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1 MATKOYPETZIOY EIPHNH MEPIKAHZ AZ146121 Ox1 Ox1 1 | 8 4 2 6,10 12 500( O | 200] O | 60 0 0 | 24400 [ 84 [ O | O | Oxi Oxi .088,00| 1
3 KATAOGYAHZ EYAITEAOSZ NIKOAAOX AK438364 Oxi Ox1 1 | 5 8,87 275 0 0 0 0 0 0 | 354,80 0 0] 0 [Oxi|[1]Oxi 629,80 2
2 ZIATPH OYPANIA FEQPIIOY  AM672458 Ox1 Oxi A 2 2 7,20 47 0 0 0 0 | 60| 100 | O | 288,00 [329( O | O | Oxi| A|Oxi 777,001 3
4 KANNH APT'YPH AHMHTPIOZ AN380659 Oxi Ox1 B | 9 1 6,60 2 575 0 0 0 | 30 0 0 | 264,00 [ 14 [ O | O | Oxi | B|Oxi 883,00 4
5 BAHX MANAFIQTHE XPHETOE  AM916899 Oxi Oxi B 7,00 50 0 0 0 0 0 0 0 | 280,00 [350( O [ O | Oxi| B|Oxi 630,00 5
6 TZEAEMNH OEOAQPA  MIXAHA AA252583 Ox1 Ox1 B 7,60 34 0 0 0 0 0 0 0 | 304,00 (238 O | O | Oxi| B|Oxi 542,00 6
H TPIMEAH ENITPOMH
MEZATH KQNZTANTIA
FKAPAHZ BAZIAEIOZ
TZIAKA ANAPONIKH
AZEN : Nivakag katdragng utroywngiwv opiopévou Xpdvou 1 amoé 1



